For this document we reserve ourselves all rights according to DIN 34.

20080521

Abstandhiilse K60

Gesamflange L

‘ 230mm bei 24V

306mm bei 230V
;'\\ ‘I:!:;§ i N
S Y
= é - g& 2
© g ©
(0]
=1
X0
23 5
2 S|e
55
215
0 O O
m = c B = m |
~ o B FPan ~
ANV S YU
AV 2l AV
Q
11 <l 11
ET
=|E
Montagemal3 L3
mounting dimension L3 /\/
max. Offnungsweite der Senk-Klappschere beachten
note the max. opening of the top hung hinges
Bezeichnung / Artikel-Nr. / Hub / |[MontagemaB | Gesamtldange | Fligelh6he /| max.
description material number | stroke|/ mounting |/ total length [ sash height | Schub-/Zugkraft
(mm) [dim. L3 (mm)|L (mm) min. (mm) |shear-/tractive force
Eltral K60, 24V K-17648-25-0-00 443 461
Eltral K60, 24V, Synchro| K-17583-25-0-00| 250 443 461 350 600N / 600N
Eltral K60, 230V K-17649-25-0-00 509 537
Eltral K60, 24V K-17648-40-0-00 509 537
Eltral K60, 24V, Synchro| K-17583-40-0-00| 400 509 537 900 600N / 600N
Eltral K60, 230V K-17649-40-0-00 595 613
Eltral K60, 24V K-17648-50-0-00 | 500 595 639 1100 400N / 600N
Eltral K60, 24V K-17648-60-0-00 595 639
Eltral K60, 24V, Synchro| K-17583-60-0-00| ©00 595 639 1400 300N / 600N
Eltral K60, 24V K-17648-80-0-00| 800 722 740 1900 200N / 600N
Eltral K60, 24V K-17648-01-0-00| 1000 824 842 2300 100N / 600N

distance sleeve K60
9-44728-00-0-B

Senkschraube
countersunk screw
DIN EN 10642 - M8x16
9-13323-16-0-8

Diese Montageanleitung wendet sich an ausgebildetes Fachpersonal, Grundlegende Arbeitsschritte

Einnietmutter M5 (7x), kl. Senkkopf
rivet nut with small countersunk head

9-44955-00-0-1

Senkschraube
countersunk screw
DIN965 - M5x16 (3x)
9-13133-16-0-8

Fligelbock K60
Sash bracket K60
K-17641-00-0-1

—

I==|
1IN
an Y

A
I

N

\l,

1
\ Konsole K60

console K60
9-44725-00-9-8

Scheibe / washer
ISO 7090 - 5 (4x)
9-13560-00-0-8

Zyl.-schraube
cylinder head screw
DIN912-M5x16 (4x)
9-13471-16-R-8

required space 37

min. Platzbedarf 37

werden nicht naher erlautert
Achtung: Alle MaBe sind gem. VOB am Bau zu priifen und ggf. anzupassen !

Die Montage- und Betriebsanleitung ist Bestandteil dieser Einbauzeichnung und ist daher zu beachten

This assembly instructions apply to trained personnel, basic working steps are not explained
Attention: All dimensions are to be checked at the building and if necessary adapted!

The assembly and operating instruction are a component of this installation drawing and are from there

to be considered

Description

Montageanleitung ELTRAL K60, Senk-Klappfliigel, Rahmenmontage, Schiico, kurze Konsole
mounting instruction ELTRAL K60, top hung window, frame mounting, Schiico, short console
Bef.-Garn. / mounting set K-17597-00-0-00

GU
(R FERCO

F;g';;‘se No. level | release Scale Modification Size
_ |neu erstellt 3

Mod. No. 1:2 .

G21703 oat  |26.09.2008  |Fl Drawing No. Sheet

Replacement for -- 0_44939_I E 1/1




